20. Yeast is used in the production of :

20. Trefatan 8 & fews s 3 4 @ v fan e
S 2 . (2)  Hydrochloric Acid
(1) i‘f‘:’]&j (3) Sugar
(2) g (4)  Oxygen
(3) (5) Not Attempted
(4)  sfEEEE
(5) T I <A T | 21. Deficiency of causes beri-berj
discase,
21. & FH & F A-A0 T o E (1)  Vitamin C
(1) feaim=c {2)  Vitamin D
(20 fe=fEED (3) Vitamin A
4) il (5)  Not Attempted
(5) SWE o e
22. Match electrical component gi_w.-n in
- m-lﬁﬁﬁ@ﬁgﬁ! -.Hﬁm-llﬁﬁqw g:ll:;nn.l}:I with the symbol given in
mm | FAfew Fife ; Column - 1 Column - I1 2¢
L w1 w9 - 11 :
- 2 (A)  Electric cell {1 =
() FeeE @ I Ca L B
B ‘313" frufa 5 ferg (1) @ (B) Switch in 'ON’ ({1 @
position
(C) FrEa= (e (C) Electric Bulb 111] ——
(D) F=f ) ) —- (D) Battery (V) —f
‘ai’rﬁm ﬁﬁﬂ : Choose the correct option * 2%
(1) (A)-(1V), (B)-(1), (C)-(11), (D)-(i1) (I A-0v), B)-), (C)-u), (D)-1m) .
(3 (A1), B)-11), (C)-(1), (D)-{1V) 3 Al (i ’ s :
(5) ¥ T A (4 (A1), (B)-@), (C)-(11), (D)-(1V)
(5] Not Attempted
23. TREEER A dHh wwEWE i -
: 23. epatitis ‘A’ is caused by :
() -Tajﬁ_ * (1) Fungi 28,
(233 W (2)  Protozoa
(3) SiEm (3) Bacteria
(4) foumy (4)  Virus
(S) = T = (5)  Not Attempted
VNATH/Fi T% e} & f90 verel  SPACE FOR ROUGH WORK Page 6
VRAS




A
4

el B - i .
16. " _ A Wi e T 32

Ly FE
() T
() T
(4) T

() T T S

. u&ﬁa’imﬁammmma’zmﬁ,ﬁrm
w7 T FOM g9 B fheet a1 I €, Sad 5

e Tl T WAl T WO e ¢ ¢

() W=

) T
@) EEE
@ EmErarEs

(5) T T 2 a9 |

18. ﬁq&c‘f@aﬁ%zﬁﬁﬁtmﬂfﬂmwﬁﬁ?

i aﬁrmaﬁ@mwm

e ﬁiﬂiﬁnmmﬁﬁwﬁfmaﬁ‘{‘taﬂ

SR T T E |
@ e (fe) w1 e
@ frm Fi afei
(5 e et & A |

18.

16.

17.

Which of the following is mot & terrestrial
habitat ?

(1) Rainforest

2) Grassland

(3) Pond

{4) Desert

{(5) Mot Attempted

If a person's kidney stops working. They
cannot survive unless their blead 15 filtered
by artificial kidney. This process is called :

(1) Transpiration
{2} Elimination
(3) Excretion

(4) Dialysis

(5) NotAt tempted

Which of the following is not the characteristic
of fish ?

(1) Longbackbone with cylindrical body

(2) Head and tail smaller than the middle
portion of the body.

(3) Presence of fins

{4) Presence of gills
! i

{5} Not Attempted

i - 19. Match the following :
. Trefatem = gifaa =1 (n ()
m (=) — {A) Lamina il  Weak ste
[EYRRF et 1] B (B). Petal m o i
* i Vanr
® dmd any  HEE (€ Pistil () Leaf
IC)  wiEaE (1m o (D} Creepe
s (V)  Flower
O} et o 3 mow
-1 g
M ay-avy, @100, (€)1 (D)-() 2) {A]—([l‘[‘;]'[::?:l L (B1-0)
B (g, @), €00 o (4 -, (B)-0V), (C)- (), ()-q1
) o), @00, €0 ©-M {5} W-a1), B)-), (©)-), (D)-(1v)
Tl'l}[:dl = Eeaid OR ROUGH W{JFTK___‘—————_
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” st = "‘ w‘l’! 37- i
37. o= H‘Fﬂﬁﬁ'ﬂ‘fmaﬁ wae g 9 € 3 1 way as Newton is related to :  the b,
formd Halm €7
i (1) Force
GRS
(1) =© _ (2) Momentum
(2 WITH (3) Acceleration
(3 =H (4) Density
4 wEH (5) Not Attempted
(5) IR T & ArEw |
o 38. 1f 25'" of August in a year is Thursday, f,
38. AT i @ § 25 v = ToaR €, ol SE HeH 3§ how many Tuesdays will be there ir: t‘f
— i month ? "
a4 (1) 4
@ 6 ) @
3 3 3 3
(4) 5.__: 4 5
(8) T & =y (S}  NotAttempted
39, w4 i
= T e ST 9% F14 i | 39. Find the next term of the series :
11,12, 16, 25,41, _2 11,12, 16, 25,41, __»
1 ' |
(4 69 (1) 69
81 65 2
@ e il
: 4
B T [_l 66
(5)  Not Attempted
40. vy
AB, Q Daqr g
N e, S I H : i
TR T, 3 v T 0P | 40+ Five chilldren A, B, C, D and E are standi?
!, F’Emﬂi"ﬂ'{&ﬁt o o "ﬂﬁ'mqﬁfl & row, facing North but not necessarily if &
T T ) vy FRE A 3l oy B order. ‘C'is to the right of E'and 10
) g & qeg EEoch Cft of ‘A’ 'A’and ‘D’ have one child bet®¢”
them, Who is in the middle of the row ?
@ 4 (1) B
% e @ A
W ¢ a)
(5) ?ﬂ'(q-ﬁ “
VNATHT R Ty 4 c
— (5} Not Attempted

Kilometer is related to Distance

T ey ; SPACE FOR RougH WORK
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=7 2014 3 Wi 70 AR TR I €

(1§ TSR R A e e
e WEH :

(2) ifem == e wEE

@) Feraird e fafir TER R SR F1 T
g SR, TR da Har W

(4)  Frafm S & qa T ST SR S

T ed g T T i W w |
(5) S T A

o, g 41 SFeawm - wma el o e aRa 6

fFaTagE?

(1 =g

2 w=w=

(3) e

(4) T

(5) SR 7 & wwa
‘CE' A A i

(1) =iy

(2)  FFgerEim

(3 Fr= siE g
(4) TATEgE

(5) I G I 9w

" ferefafem 4 e T w , Rl o
Hqg A g ?

(1 FE
(2 @
(3 w|E
(4) TIF

(5) SO TE & A

‘g’ TE WRE % el T H s €7

(1) IWIE

2y =EH

(3) FARE

(@) T | f

(5) Te T A |

‘Mission Indradhanush’; launched in

2014 is:

(1) To provide affordable and qualjyy
healtheare to the ryra) Population, ’

(2) To provide education to the deppi,
children. e

(3} To provide information, commoditjeg
and service to meet the diverse need of
adolescents.

{4) To cover children who have been
partially or not vaccinated during
routine immunisation rounds,

(5) Not Attempted

the yea,

Appam, Puttu and Idiyappam - food items,
belong to which State of India ?

(1) Orissa
(2) Kerala
(3)  Punjab

(4} Gujarat
(5) Not Attempted

'‘CE’ refers to ;

{1}  Common Era

(2) Casual Era

3) Coastof Egvpt

1) Common Eslimate
(5) Not Attempted

that is worn in Chhattisgarh ?
(1) Ornament .

(2) Footwear

(3] Sarce

(4) Dupatta

(5)  Not Attempted

S'B[;htl: ?fcstlval Is celebrated in whicy, Indian
i]] Uttar Pradesh

(2) « Assam "

(3) . Karnataka

(4) Punjab

(5] NotAttempted

Page 2
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& @ﬁmmﬁaﬁmﬁm%ﬁﬁmﬁ@m@

i 2 b : ; 24. A boy is standing at a distance of 50 cm from f o S
!_ 3 { ek i e @ A et A BT 2 the plane mirror. What will be the distance W
Y between the mirror and the image ? Tk
| l'.hi 50 N i]-:' 50 | e :‘4 :
L 2) 75 HEMIEL o g cm BT 7
. sn Scm ~ g
'. e fffn,f- ; (3 100cm 'y’
'| 51 ;:ﬁ'—ﬁ%ﬂ - (4) 25cm R Q
(5) i e (5) Not Attempted \ DT
| = 4 2016 # WRA HER A e e |, it S
- PRy-a— 5. In the year 2016, the Government of India has g 7S g
| s fn & FameR et 3faa Afe T FeEm initiated a mission called under bl -"'"‘_‘.' 1
'{’F‘WW%I which a proper Sewage disposal have been : /(\ ,{
tarted. o~ 43
(4 = = o~ N
o o (1) Swachh ‘Bharat \ . >
o) e 2) Na.ameum Gange : R
o 3o (3) Ujjwala 1 e o
::1 l.] E‘ﬁ( =5 T aw®R | (1) Udaan _"J ¢ %
) (5) NotAttempted _ -
6. Tﬁfmﬁmmi%m%ﬂimél . ) ) ' 5
s ; 26, No medium 15 required for transfer of heat by :
-_— | "T['H‘-"['lﬁ WW ﬂa‘:‘%! thl: FITOCESS Df ":‘_'
_ (1) waE (1) Convection | 3
IS (3 ATHRESA (2) Transpiration )
'| (3y fafwm (3) Radiation :
-l (4 = 2] Conduction : , %
(5)  IeRCAE o A | (5) Not Attempted ' % -£4
' Wizl
5 = 4 A
. - A4l et & A AR RS PV and are water borne
1 diseases. =
) R - (1) Scurvy and Cholera : g
Q) e s & (2) Polio and Rickets K
5 (3) Typhoid and Meningiti ;
@ Ewige s AfETEes S gitis 5
l @) R-a i A (4)  Beri-Beri and Dysentery : “
5) e i o (5 Not Attempied % rr”
) ) h " . r b ) | f_l
8, Yyl - 4 @ ol 28, Earthw c_)rms breathe through their ,’ H A
‘ N e (1) Gills ¥ y.
\ R w=m (2) Skin
1 [3'] - G._ ls.l Lungs v ..l' k
- i P [‘;} T'rachcag ’.. \ A
page 6 | 3) =m el 'a—,"-q-mﬁ | (5] Not Attempted __.;“'
.: TR TR e R zarel | SPACE FOR ROUGH WORK \ _
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two
the
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-ally

7S

_,.-'/
pag® ’

#,

# ‘COVET 1 ‘FRYHW' | 33

umﬁph 4 L_ - ﬂm '-q' ‘HIDE”@I % | ﬁ-a-l
aﬁﬂ’ﬁ-ﬂm .

L

=1m!

Hiw

o BE

2

o FOE
y KGH )
Tt ) = |

ﬁmﬁamﬁmﬂﬁsﬁw%l 7% amEd | 34

[ TR
[ TR & |

 fg R EEETH EEAQ g § fFm

T A 6 7

by

R

B R

() e

B 3T

'%%mﬁﬁwaﬁmmﬁﬁmw
Y Soms 35 3 e WA B S ST

5 g A O A R
? P ¢ T ©O E
52 2 4 5 6

1.1; 2'5'1"?’!6."‘

| 41,5,2,3,6

3,5,1,4,2,6

2']'5-3.5.4

T T T awa

!
(5

IF

(1)
2)
(3)
)
(5)

(1)
(2)
(3)
&
(3)

(1)
{2}
(3)
5
(5)

C
1

(1
2
(3)
(4
()

If in a certain code, COVET' is written. as
FRYHW’ then how will IDE’ be written in the
same language ?

KLEI

KGEF

KLEF

KLGH

Not Attempted

A man is facing North direction. He turns
135%in anticlock-wise direction, and then g0°
in the clock-wise direction, Which direction
is he facing now ?

North-West
West
North-East
North

Not Attempted

as. If ‘'Qis brother of son of R’s son, then how is
‘Q’ related to R'7?

Grandson
Cousin
Son
Uncle

Not Attempted

3. A set of English letters is given below in a
jumbled order.
numbers so that the letters arranged
accordingly will form a meaningful word.

Select the combination of

P K T 0 E
2 3 4 5 6

2,5,1,3,6,4
4,1,5,2,3,6
3,5,1,4,2,6
2,1,5,3,6,4
Not Attempted

p— T oo =/ SPACE FOR ROUGH WORK
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the
the
gen

o, Tra5-128~ 137 —(15—- =58 F MxF T | 42,

t:
(1
(4
3
B
=

. e ) e saw S 9 5 TmTer AfuE el | 43,
wﬁimmamqnaﬂsrmmzaﬁﬁaﬁa%,ﬁx

T A (o HEAE H)
{1} 5544

) 5306

1y 5712

{4 5244

5 S AEl g e |

Y. o o g <A I R 12 7l A =R | 44,

-

19

29

~29

-19
ZAUE & T |

<50 e T T 1 e 1 T = € st | 4L
:,H33ﬁﬁ_ﬂ1_?tﬂ§ﬁ45 fore T T €| TF

G - 5
ﬁﬂﬁﬂﬂiﬁﬁﬁgﬂqﬁb:

A truck covers a distance of 550 metres i1
1 minute whereas a bus covers a distance of
33 kms in 45 minutes. The ratio of the speetd
of the truck to the speed of the bus 392

(1) 3:5

2) 5:3
(3) 3:4
4) 4:3

(5) Not Attempted

1f45—|28— {37 —(15— x)!] =58, then the value
of xis:

(1) 19

2) 29
3y —29
@ -19

(5) Not Attempted

The radius of a cylinder is 5 em more than its
height. If the curved surface area of the
cylinder is 792 em2, then the volume of
cylinder (in cm?) is :

(1) 5544
(2) 5306
(3) 5712
@) 5244

(5) NotAtte mpted

At what rate of simple interest will a sum of

TE R 2 money doubles itself in 12 years ?
1
n sly m 85"
2
1 9te
?) 0-g @ 7y
2
1 Lo,
& slg (3 &%
Z 4
1
B g_e {4) 8—5‘}0
ATHI R <o ot fene 2 | SPACE FOR ROUGH WORK
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World Environment Day is celebrated on ;

' - 11.
11. WWWWW3= l:l] 5111 Ju]!,r
(1) 5¥ER @) 7% July
@ 79N (3] 5™ June
(¥} S5 (@) 7™ June
4 73 (5) Not Attempted
(5) S A :
. i s d as free India’s first Governor-
12, i Wi v ks & w A faif @ | 12, Who serve
General ?
e ? (1) Maulana Azad
(1) e A (2) Jawahar Lal Nehru
(2) SEEL T TR 3) C. Rajagopalachari
(3 . e (4)  Sardar Vallabhbhai Patel
(4) HER FEEE v (5) Not Attempted
(5) = T WA
. 13. The earth is surrounded by a layer of gases
13, e % AW S frm v e € called :
I (2} Climate
@ T (3] Qzone
) . (4 Environment
6 T e (35) Not Attempted
14, WRA T fFE 3w e g 2 14.  Which year did India attain freedom ?
(1) 1947 (1) 1947
2} 1951 {2) 1951
¥ 1980 (3) 1930
:;: :;?::ﬁ o (4) 1950
i . (5) NotAttempted
15. ﬁﬂﬁ@?ﬁaﬁ?—mmmﬁmmﬂm -
feremeradl 3 gy fon v o vy oy T p— 15. Which one of the following refers t '
3 VT WeE fem w2 programme introduced in all gm’cl’““".‘}
. : : elementary schools to provide children W
(1) ==E=nen, 99 wsh cooked lunch 7
2) = faen afimm (1)  Beti Bachao, Beti Padhao
(3) il wurEn (2) Sarv Shiksha Abhiyan
(4 g A {(3)  Mahila Samakhya
{5] Eni -q.s':;- .&:". m I |:4]' Mirl-day meal
VNATHIEd (5] Not Attempted
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6 ¥ (MAA) Frws J e vy 30

-, (1) T T (A v s
@ T mies e .
e | Lt
TS 2791 SiSerie mew) i
(3) = Tl v (v e s)
T = Y IR (e e adm)
{3 AL <A WA |

v, i T fazafaener Tt st &7
(y o=
) TS
(3) S
(@) S

(5) T T 2w |

8. g w fm 2
(1) 9371 fw

| 2 2371 fFH
' 3) 6371 fEA
4 8371 fEA
(5) = I g e |
9. w2011 % AN o 1 R
ng ) 880
) 83.0
(B)  73.0
4 78.0
(51w A

10, ‘fafey wmsﬁm'w%wmﬁ?

10,

What is the full form of IAAT programime ?

(1) Mother And Adalescent

(2) Menstrual hygienc Among Adolescent
girls

(31 Mother's Absolute Affection

2] Mother’s Absolute Attention

(5) NotAttempted

Where is Jamia Islamia University situated 7
(1) Delhi

(2) Lucknow

{3) Aligarh

(4) Bhopal

(5) NotAttem pted

What is the radius of the earth ?

(1) 9371km
(2) 2371 km
(3) 6371 km
(4) 8371 km

(5] Not Attempted

.;:slpcr Census 2011, the literacy rate in India

(1) 88,0
(2) 83.0
{3y 730
4 780

{5} Not Attempted

Who is the author of the bhook -

British India’ 2 A History of

wdian | (W oiE AEeae (1} Lord Mountbatten
2) wrEwE (2)  Lord Curzon
@) Bl James min
) W [4] Wl'lrren Hastin q
8 wwrE — 5]  Not Attempted E‘
Page 2 VNATA 7 g & e 1/ SPACE FOR ROUGR WoRK ——
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r

ana

with

Delhi.

5

}are

amous

ea

2ad

r in

,—”éﬁ

t @ &

) e A R

) e i Frfatad

%, nﬁvﬂﬁﬁﬂﬁ(ﬁ
aﬂﬁfﬂﬁ?ﬂaﬁﬁfﬁ.:
) g&ﬁﬁﬂmﬁqﬁs’tﬁ

el .
Bl ﬁmm‘aﬁtta'eﬁﬁ

s 81
m‘éﬁﬁﬁa‘h-m,'ﬁmﬂﬂﬁt%[‘é?

- (A) @i (B) &

g AW (A) AT (B)
@) (A)

(y T (B)

) TR e e |

ﬁmﬁ;ﬁﬁm@ﬁﬁtﬁ

zﬁw%ﬁ?ﬁ@?ﬁﬁ’rﬁ

% T@?E}*ﬂﬂﬁ(@mﬁ}%ﬁﬂﬁﬁmﬁf@“ﬁ
I3E-m weA e €2
(A)

(&) iR (B) 2
A (a) AR AT (B)
4 (A)
T (B)
T e e |

93, Who was the author ofe

05.

pic ‘Mahabharata' ?

(1) Maharishi valmiki
(2) Maharishi Vedvyasa
(3 Magh

{4) Kalidas

(5) Mot Attempted

Who amongst the following did not play for
Haryana in Ranji Trophy ?

(1) Rajinder Goel
12) Sarkar Talwar
13) Maninder Singh
(4 Kapil Dev

(5) Not Attempted

Consider the following statements about Gross
State Domestic Product (GSDP) :
more than that of

(A) GSDP of Haryana is
Bihar.

(B) GSDP of Punjab is more than that of
Haryani.

Which of the above statements is/are
correct ?

(1) Both () and (B)

(2) Neither () nor (B)

3 W only o .
@ (B)only B |
(5) Not Mtcmptcc_i -

Consider the following statements in respect
of National Security Guards (NSG)
| Headquarter of NSG is in

(A) Operationa
Manesar.
B) NSG comes under the control of Union

of Home Affairs.

Ministry
which of the above gtatements isfare
correct ?
(1) Both (A) and (B)
(2) Neither (A) nor (B)
@) (W only
@ (@ only
(5) Not Attempted
OR ROUGH WORK / page 21




T E? (1) Hariyala
(f e (2) Haryanak
() EEE (3) Haribanak
(3) wEw (4) Bahudhanyakya
(4) =g (5) Not Attempted
(5) IR AE o = | - g4
90. ‘iz’ aiv wfen § e T W E? - {?lttu ::;ajc is on which river in Hary,,
(@ (2) Ghaggar
i (3) Yamuna
@) = (4) Sahiba
(e (5) Not Attempted
_(3) IR A 95
- . 91. Consider -thr: fullm'.'ing”slatcmcnts : |
s e w — . N (A) Sonipat and Jhajjar share border v
(A) | SR g HeE T & W Delhi. i
L (B) Rohtak does not share border with D:'.‘:?
(B) T Tl e fereehl & i et §) Which of the above statements is/a:
S 1 A wE-E A R correct ?
(¥ (A) 3R (B) EHT ' (1)  Both {A) and (B)
(2)  Ad(a) AR A (B) (2)  Neither (A} nor (B) -
@) = (A) (3)  (Aonly |
(4) %= (B) 4)  (B)only
(5) I & awa) (5)  Not Attempted 96,
92. = ¥ fEm ugry ¥ WG gredE 99 @ amee | 220 In which month of the year, the fame=!
e T8 T Surajkund mela is held every year”
(1) e ' Haryana ?
@  wwd (1) October
(3) = (2) February
(4)  famen (3) March
"m (5) mﬂh_ﬁﬁz’ﬁl ::) December
m\\ ) Not Attempted
¥ 3 o1 2211/ SPACE FOR ROUGH WORK — et W




Myang
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rs for

: mﬂﬁﬁﬂﬁwaﬁmqmﬁmwﬁﬁm Ciok

§7. ﬁmﬁ%ﬁf@ﬁ#ﬁftﬂﬁaﬁaﬁm:

n how

£
2adf 1

ﬂiﬁﬁ%mﬁ—mfﬁm'ﬁﬁ%ﬁ?

. o oy 8 v g e P FER €7

G e
TH 1y

ﬁaﬁa‘gﬁ’mﬂ syrETen § 1
ﬂﬂﬁaﬁmwﬂiﬁzm%

g

(Al
@)

T S g ?

m ®

2 =

(3 w1

@) =

(5) I TN = |

&) ﬁmﬁgﬁmargﬂmm%l
B) i # wfera smEe fem T |

(1 (a) R (B) T
) AT (A) IRTE(B)
@) e (A)

[4) & (B)

(9) I & & 9ed |

(1) wiEER
2 =T
B)  d=men
4

85.

; s’rl

88.

I
e o fere enet/ SPA

Consider the following statements :

(A) Nada Sahib Gurudwara is situated in
Ambala.

(B) Nada Sahib Gurudwara is situated on
the bank of river Ghaggar.

Which of the above statements is/are
correct ?

(1) Both (A)}and (B)
(2)  Neither (A) nor (B)
(3) (A)only

(4) (Bjonly

(5) Not Attem pted

Boojali, an ornament is worn in which part of
the body by women in Haryana ?

(1) Foot
(2) Nose
(3) CEars

(4) Forehcad
(5) Not Attempted

Consider the following statements : _
(A Rohtak has a Police Commissionerate
located there.

(B) Sonipat has a Police Commissionerate
located there. .
Which of the above statements is/are

correct ?

(1) Both (A) and (B)
(2) WNeither (A) nor (B)
(3) (A)only

(4)  (B)only

(5) Not Attempted

rict is the Indian National

1 -hich dist
Bn located ?

Defence University
(1) Faridabad
(2 Karnal
(3) panchkula
(4) Gurugram

t Attempted

(5) Ne
GH WORK page 19
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81.

82.

83.

frerferfam 1 & R 1 w-E g el
S | TG 2

(W M
(2 T
(3) e
() T

(5) LG & e |

fcaron T § T B fefe WiE ¥ 7
m 6
2 5
(3] 8
M 7

(5) I < 9T |

-l 8 e 5 g e Feere o s
fFmsmme? .

(1 4
s 2%
(3 2
@ 3

(5) W T ama

84. o Frm ford i fim 32
3wz
2) T
(3) faz
@)  Fum
(5) T 2w
VNATH/F1

81.

82.

Ba.

Which of the following dance forms of ;.

is associated with Mewati tribe 2 ‘"‘.-'i,-ﬁ

(1] Phag

(2} Gugga

{3) Dhamal

{4) Ratvai

(3) NotAttempted
How many Rajya Sabha seats does ]i;].r:,-a_.J
have ?

(1 6

2 5

3 8

4 7

(5) Not Attempted

Mukhya Mantri Pragatisheel Samman Yoja

- - - !
is to motivate the progressive farmers

adopting best agriculture practices in ht
many categories of land holding ?

(1)
(2}
(3}
(4)

13)

4
5
2
3

Not Attempted

In which district is Narnaul situated ?

(1)
(2)
(3)
(4)
()

Mahendragarh
Rohtak

Jind

Kaithal

Not Attempted

¥ B4 & f41e 7air  SPACE FOR ROUGH WORK
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mmﬁ*ﬁgwﬁfﬁ?ﬂﬂE

% Neemrana comes under which State s
fx_.%“ﬂ (1)  Punjab
! Ve (2) Uttarakhand
il -
i (3) Rajasthan
o ol (4)  Haryana
ol (5) Not Attem
i - pled
. =3 |
;’r e 1 T
: - 55 g R S 77. Which one of the following is not amongst the
_,;-qﬁﬁ A ?"TI major cotton growing districts of Haryana ?
tmgm@sw ! (1) Ambala
i S (2) Rewari
i wd (3) Sirsa
i e (4) Sonipat
H-I = (5) Not Attempted
g SR ?Hl?tlﬁﬂl
78. For the financial year 2022-23, what is the
i 2022-23 % feru, Reon T H = F pcrf:entage ol lh_c total cprndlturc allocated
! A towards Health in the Haryana State ?
e 978 1 feer e STt T 7 77 ,
. (1) 8.35%
1 85% ;
7 58% (2 S8%
4 62% 4 6.2%
BT O HEd | {5) Not Attcmplr.:d' 5
IEmifsm e E? 79. llow many districts afe there in Haryana ?
023 (1) 23
4 2 (2) 24
Lo @ 21
e @ 2
A TR A (5) Not Attempted
a;m T ferre 1 T & fen gf@@4 @ | gg, To promote the ancient Heritage of Pinjore,
T T F, e e e Frore Heed two festivals are held every }'C;‘ﬂ' . Oneis m:;
3 i Piniore Heritage festival’; which is the secon
.-F]W FA-WE? i
0F ﬂm e (1) Mango festival
| T @ Lemon festival
;::l A e (3) Orange festival
.:l %W{’Eﬁa E (4) Dates festival
N S t Attempted
\ T T = (5) NotAttempte
R FOR ROUGH WORK




. -~ | 45. Two numbers are in the ratig 2 - 3
N F gfec g1 A 125 E, sum is 125, then the numbers gre ; | e 3
g g’:”‘qu#gﬁﬁ : (1) 50,75
(1) 50, 75 {2] 24, 36
(2) 24,36 (3) 20,30
(3 20,30 4) 32,7
4) 32,78 (4 18
46. A 1Y B A ®wAY: T 22,500 HETI?‘SS,DUU iiﬂilﬂ +, | 46. A and B sltal_"ted a business by in'l.’csﬁng
@Wmml Ed 27.600 —C‘F-g_l?l'wq B &l Ed 22,500 and ¥ 35,000 rESpUCtiVEI}'. Uut of 3
A ' total profit of ¥ 27,600, B’s share is : 5(
i (1) %16,800
(2) ¥19,200 () 19,200
(3) 10,800 (3) 10,800
(4 714,400 (4) 14,400
(5) ST ;R | (5)  Not Attempted
47. i s 3 T an A ; |
jﬁzﬁ;‘ A1 % ﬁﬁ'ﬁ B T e W FIE: | 47, If the length of the diagonal and the area of a
:.5 A 168 =1 Hiet &, W ge F1 At = rectangle are 25 m and 168 m? respectively,
T then the longer side of the rectangle is :
(4 24, (1) 24m
@ 31 20 31m | e
@) 127 . (3) 12m
4 17, 4 17m
(5) ST e | (5)  Not Attempted
48‘ :1:' . 1 = = -2 L _2 2 .
qﬁy"gam"?"'y F U B 48. If £=-I-,thenth&valucl::i‘i_ﬂ‘r_.’_JS!
x* = y? y 3 X =y
~5
1 — =
o m =
e 5 4
@ =2 - -
3 -5
¥ 79
B =2
9 o 10
W 2 ?
4
5 . S
®) W e | S
VNATH/Fq :
T Ry .;_.h_%m (5) Not Attempted ___,___ﬁ %
TATey SPACE FOR ROUGH WORK pag




67.

68,

69,

Pick out the part of the sentence which has an
error. 1f there is no error, your answer 1s {2).

This is the third communication I have sent /
(A)

and I am much surprised /
(B)

at receiving no answer ,
()

(1 <

{3) Noerror

@ (A

@ @

(5) Not Attempted

el T @ T e i I A
%_

(4  STEE T A

(2) e 9@ & @d g

(3) Hfumias =ia 0

(4) EvE HE F HE T

(5) T T & A |

fem i frm i s T g™ = §?
(1) THRAHEAWE

(2) vl wEnm g w e

3) T i < A g

(H FTRWHH R

(5) = T &0 wwed |

"I S g i e e e et
TETR T - o Rk Gl
(1) s

3 i

(3 iyfa

4 TiERy

(5) miﬁwml

T i ;
(1) e TN TR G g -
(2) M

{3) wm

(4 e

(6) 3 W ¥ gy

VNATH/F1

m%\

70.

71.

72.

@

73.

74.

75.

T AW s o A F .
el SR A v - e =
(1) eroa

(2) =t

(3 =fem

(4) =i

(5) ST AR |

o o 4 v v 9y @), 58 e i -

0 fﬂ’] 77-

(2 =g

(3 FHuE

(4) =gHite

(5) SO T & = |

Freeaa' 3 A 4 R e it 3G
g

(1) e |
(2) Fremm .

) e |
(5) SR T <A Awed | .

(1) T

(2) fw |
3) glewm l
(4
(5) S El & = |

‘el F1 9T ¥ g T an' we s w
gtz | I E

(1) T=[IAEFH

(2) IR HEAHT H

(3) SUHI HAFT H

(4  F9HE STIFR F

(5) IO E & A |

FA-T AT T FREF Fl 2R &7
(9 = iRl

2) TYTEWEE )

(3) Tl ImEe ad #:E

(4) 393 HRF T G =@

(5) U o = |

feTe %21/ SPACE FOR ROUGH WORK
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/

. 2qmem | 78.

79,

Bp,

A
(1)
(2]
3
(4

-

{°

fa@
(1
(2)
(3)
()
(3)

fard

(1)
(@)
&
)
5)

Fitc

(1)
(2)
(3)

(5)



. HCF 28 % 3R T LCM 336 %)
S T % g e e ;

¥ .

l] 92

g

.':J 34

"

" g

ﬁﬁﬁé?ﬁRmﬁm‘ 1 e %, Wl 3

b

(I 11,920
Ig: 12,000
B 11,280
i 11,600

g TR S Ve |

mmﬁ'a,afzzo%maﬁm%l Iig A

49,

i Tel afz 5912 1,600 feud fea i | SO

The HCF of two numbers is 28 and their LCM

~ is 336. If one number is 112, then the other

number is :
(1) 84
(2) 92
(3) 34
4) 64

(5)  Not Attempted

Arun buys a pair of skates at a sale where
the discount given is 20%. 1f the amount he
pays is ¥ 1,600, then which of the following is
the marked price of the pair of skates ?

(1) 1,920

2) ¥2,000
(3) ¥1,280
(4) 1,600

(5) Not Attempted

Bt & WL ik ' | 51. A does 20% less work than B in the same
Tﬁmmmmn@mm%mﬁﬂ?ﬂm time. If A can complete a piece of work in
sz o 1 Q@ e 2 7% hours, then B can do it in ;
N {1) 6 hours
B ey 2) . 6% hours
B 3 (3) Shours
W q- '
1y (4) 5% hours
4 e
" S (5) Not Attempted
g2. On selling 17 palls for T 720, there is a loss
;:’[?I 3700 H T9H W, 5 el o e () <h ::q}l‘al t;;: thebgl}lsF I'f“cc of 5 balls. The cost
T S A 2 g price of one is:
R TH e M A A ¢t
LI {1 %55
AR
Y 2 (2) %60
243 3) 45
15 (@) %50
\ Y Py a 5)  Not Att
‘.‘rfrl-_mm 3 (5) 0 empted
" SACE FOR ROUGH WORK
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ng_\_].s

£ and of
: of both
then the
¥ of rice

ides the
grcatcst

o OUIE the
= feal

e
j alerm

3l
I

i

rare
refura
Yot Atempted

e the alternative which best expresses
§ 4 en sentence in Passive Voice.

- Jccountant took the cheque from the

r;-;mmﬂr.

q The customer was taken the cheque by

" he accountant.

5 The cheque had been taken from the

% ustomer by the accountant.

5 Thecheque is taken from the customer
by the accountant.

|4 The cheque WAS taken from the
customer by the accountant.

g NotAttempted

i L'.:anic the following sentence into indirect

fpeech.

thelti said to his friend, “Look out! There is

131eke behind you”.

"4 Sceing a snake behind him, Shakti
asked his friend to look out.

2, Shakti warned his friend that there was

; 2 snake behind him.

© Shakti told his friend to look out @8

? there is a snake behind him.

i Shakti exclaimed to his friend with
surprise that there could be & snake

" hlehind him, :

A Not Autempted

fg} in the blank with suitable alternative.

1%l not overtake him unless you ———

lél' 'pl&}r
o reading

I
4 s%ecp
. Walk quickly

5y
J—. \\jhhﬁfiﬁugnqncd

page 1

61.

62.

Choose the alternative which best expresses
the meaning of the underlined idiom.
They sold their old house because it was

a white elephant ,

(4 very comfortable
(2) collapsing

(3] very large

{4) useless

(5) Not Attempted

Find out the synonym of the underlined word
in the following sentence.

To travel hopefully is a better thing than to

arrive, and the true success is to labour.
(1) negligence

(24 carelessly

(3) rationally

(4) positively

(5) Not Attempted

In the following question, the first and the last
part of the sentence are numbered $; & Se.
The rest of the sentence is split into four parts
and named P, @, R and S. These four parts are
jumbled. Re-arrange them in correct order.
S, - Even today in many countries

P - neglected and there are far

Q - women continue to be

R - who have had the benefit of

g . fewer women than men

S, - education and vocation training

(1) RQPS
(2) SQRP
(3} PQRS
(4) QPSR

(3) Not Attempted

Choose the correct alternative t0 improve the
underlined part of the following sentence. Ifno
jmprovement is required, your answer is (2).

Passengers are requested not to sit on the floor.

() requested to sit
(2) No Improvement
(3) tonot sit

(4) tonotto sit

(5) Not Attempted

I
Fy % g e/ SPACE FOR ROUGH WORK Page 15



53.

] 4__%5. F].;._'E.'E'f.'fi—“i.\:ﬂﬂﬂﬁ%;m‘l:
V' 144 12

(y 13

(2) 17

3 1

4 3

(5) IR T T = |

{1) 13
(2) 17
3 1
4 s

(5) Not Atteﬂlpted

TR - 1 % A T e ¥ 15 Wi frenm s | 5% The cost of type - 1 rice is ¥ 15 per kg and o
TER - 11 % =6 1 959 2 20 W Fremm 21 af gg:s';: £08 “"dz. Q?hp"’ kg. If rice of both
L DN BURN S i e mixed in the ratio 2 : 3, th
<l R % S i 2 : 3 5 e v e, @ faam cost price per kg of the mixed vari ol
19 et "{F—'I? is : g aricty of rice
(1) T18.50 (1) 218.50
(3) R19.50 (2) %19.50
3 T8 3) T18
4 19 4 19
B) S i (5) Not Attempted
3 aﬁﬁﬂma@mgﬂ-{q_“ 1 o 55. The greatest number which divides the
Wﬁ‘ﬂﬁamwma@ e greatest 3-digit number and the greatest
von g 4-digit number, exactly is :
M 8
@ o d)
3 3 @2 9
W 7 @ 3
13) i o 4) 7
meHmmqmm““ﬁl @
(5) Not Attempted _
™ Page

81

g9,

G0,




os, Fferfm i A i A1 94 TN B T P E?

= A
|l w1 G4
TR Tl G4

gfea {9

IO TG & e |

(1)
(2)
(3%
(4
(5)

99, Tfem Mt aifd wuig wiiwm wfEer wftan F faa
e g2
(y femm
(2) fo=
(3) F=K
@) Tem
(5) W E G 9w |
100, Fwfafed § % S g T =1 w@iEw, 99 iR

eTHTaH wal g ?

(1y o =T o
(2) A g e
(3) 4t sfe fom
& e e
(5) IR T & =
~00g-
VNATR T

o7.

98.

99,

100.

Garima Chaudhary is well known g,

sport ? hv""'
(1) Wrestling

(2) Archery

(3) dJudo

(4) Kabaddi

(5)) Not Attempted

1
I
Which amongst the following is the Staye1,,, I

of Haryana ?

(1)

Mango Tree

(2) Sal Tree

(3) Banyan Tree
(4) Sacred Fig

(5) Not Attempted

Indira Gandhi Super Thermal Power Prox
is situated in which district of Haryana ?

(1)
(2)
(3)
(4)
(3)

Hisar

Jind

Jhajjar

Sirsa

Not Attempted

Who among the following is the Minister®
Environment, Forests and Wildlife of Haryé®
State ?

(1)  Shree Mool Chand Sharma
(2)  Shree Dushyant Chautala
(3)  Shree Anil Vij
(4) Shree Kanwar Pal
(5)  Not Attempted

r00o0-

—r s
BT 6 Torg T# | SPACE FOR ROUGH WORK




